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1, {10%] DOelermine a polynomial function F satiﬂfying..
\ i) - Flx) =x'. ' -
2. {10%} Prova thet
| ' Tim, _(1+-2)m=1
X Ha.

3. {lﬂ%}-IfIf.is a contiperua function in A clogad interval [a,b]
and if £ contains the open interval (a,b} in it=a domain,
please prove that thers gxists a number o in (a,b) such thet
f{b)-Ela]j={(b-a)f' {C]. : '

i. [10%) Evaluate o s | _

-.?”;' f{x?-z}axptx3~5x}dx.
EALET F TR -'lr:l. -{r}__l::l. i EREE : i
5, (10%) VeriEy that 4 T '
_: i s, R R A - x° H‘
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. (10%) A company ‘s proflt [in dellars) from tha sala of x VURs is

approximately
. 10x*-50x
Bl e e
{a) Determine the marginal profit function.

(b] Whak is the limit of the profikt as the quantity wsold
increases without bound?
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7. (10%) A vompany determines that the value of an investment is V,
in milllone' &f dellare, after time L, In years, where ¥ is
given by : v :

V(L) =R E?—30LE2 4+ 45 L +5/F

{a) Flad ble average rate of change of the investmeant between
year | and year 5.

(k] Find the egquation of the tangent line to the graph at the
polnt (1,.£{1)}.

H. {lﬂ%} The tﬂtal sales 5'of a one—produckt firm are given by
S(L, H]=HLHL where M=the.-rcost of materials and I=thes wast of
labnr- Find the maximum value of thie functLun Eub]ﬂﬂt tn thE
budget conatraint M+L=B0. : =4 :

9. (10%; A firm producea twe kinda of radioc, ona that sells for $517
aach and the cther feor %21 each. The total revanue from the
gale of % thousand radics at %17 sach and y thoumsand at $21
aacth ia given Ly Rix,y)=17x+21ly: The company deblerminag Lthat
the total ecest, in Lthousands of dollars, of producing =x
thnuﬁand of the 31? radio nnd ¥ thousand of tha 521 radio is
qiven by u[x,y}wdx -4xf+2y =11x+25y=-3. Find the amount of each
type of rsadico that mmet be prﬂduﬂed and escld in nrﬂer o
maximize profit.

; [T T

10. {10%} & televiaionh company determinee that the mnrginul cost of
produsing the xzth TV 1g glven by C' (x)=100-0.2x, C{0}=0. It
also determines that ite marginal ravenuya from tha sale of the
xth TV is given by R' [x)=100+40.2x, R{D])=0. Find tha total
profit frem the production and sale of 1000 TVa.
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